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QID : 201 - In the following question, select the related word from the given alternatives.

Smash : Badminton::?:?

frafafed uy & fow U fawedl & 9 afid <1sg &1 gl
W JsfiieT::2: 2

Options:

1) Board : Chess

EIERRGRE

2) Bowled : Cricket
SIIT 1 : Topae
3) Ball : Golf

4) étick : Polo
e : g

Correct Answer: Bowled : Cricket
3T3C DT :

Candidate Answer: Bowled : Cricket
33T T : fohae

QID : 202 - In the following question, select the related word pair from the given alternatives.

School : Student::?:?

Froforfaa wy & faw mu fowedt & & W&l wsg g &1 gl

Options:

1) Hospital : Bed

ST : YT

2) Judge : Court

=T : =R

3) Shop : Selling

GHM : T

4) Prison : Convict

o : roRTeht

Correct Answer: Prison : Convict
I+ ORTeh

Candidate Answer: Prison : Convict
T+ ORI

QID : 203 - In the following question, select the related word from the given alternatives.
Temperature : Degree : : Area : ?

frafafed uy & faw 7U fawedl & 9 afd <1sg 31 gl

aa : &k dawa : 2

Options:

1) Watt

qic

2) Hectare

3) Kilogram

4) Ampere

Correct Answer: Hectare

Candidate Answer: Hectare
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QID : 204 - In the following question, select the related letter pair from the given alternatives.
LACK : GWXG : : MYST : ?
Fafafed uy # fau e f9ewedl # 9 Fald sreri & gHu

LACK : GWXG : : MYST : ?

Options:
1) TCPH

2) HUNP
3) TUMC
4) HUMT

Correct Answer: HUNP
Candidate Answer: HUNP

QID : 205 - In the following question, select the related letters from the given alternatives.
PIT:UNY::FAX:?

frafafed uy & faw TU fawedl & 9 9 sieri o 9Tl

PIT: UNY::FAX:?

Options:

1) LGB

2) KEB

3) KFC

4) LAE
Correct Answer: KFC
Candidate Answer: KFC

QID : 206 - In the following question, select the related letters from the given alternatives.
FK:CI::GL:?

Fafafed uy o fau e f9sedl # 4 Fald sieri & gHu

FK:CI::GL:?

Options:

1) AH

2) RV

3)KP

4) D]
Correct Answer: D]
Candidate Answer: DJ

QID : 207 - In the following question, select the related number pair from the given alternatives.

Options:
1)48:96

2)24:50
3)12:50

4)31:63
Correct Answer: 48 : 96
Candidate Answer: 48 : 96

QID : 208 - In the following question, select the related number from the given alternatives.
62:155::74:7?
Frafafad vy o fau e fasedt & § Hefta e o1 ghu

62:155::74:?
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Options:
1) 185

2) 165
3) 170

4) 190

Correct Answer: 185

Candidate Answer: [ NOT ANSWERED ]

QID : 209 - In the following question, select the related number from the given alternatives.
41:5::23:?

frafafed uy & faw e fawedl ¥ defa g &1 gl
41:5::23:7?

Options:

1)5

2)3

3)8

4)9
Correct Answer: 5
Candidate Answer: 5

QID : 210 - In the following question, select the odd word from the given alternatives.

frufafed vy & fou 7u faswed & ¥ fawy wrsg & gfuy
Options:

1) Sitar

[SEIN

2) Violin

CIRIKE]

3) Harmonium

4) Guitar

fleR

Correct Answer: Harmonium

Candidate Answer: Guitar

QID : 211 - In the following question, select the odd word from the given alternatives.

frofefaa uy & faw e fawed & @ fawy wreg &) ghw
Options:

1) Rice

EICK|

Z.)WWheat

3) Maize
Brsa)
4) Potato

A

Correct Answer: Potato

A

Candidate Answer: Potato

A

QID : 212 - In the following question, select the odd word from the given alternatives.

faffad uy & fiou e fawedt & 9 faww wrsg &t gFul
Options:

1) Cuboid

gy

2_) Cone

P

3) Triangle

Pyt

4) Cube

uq

Correct Answer: Triangle
Pyt

Candidate Answer: Cuboid
Y
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QID : 213 - In the following question, select the odd letters from the given alternatives.

oo uy & fou e fawedt & @ fawy siert &1 gful
Options:

1) NJFB

2) KGCz

3) BXTP

4) LHDZ

Correct Answer: KGCZ

Candidate Answer: KGCZ

QID : 214 - In the following question, select the odd letters from the given alternatives.

frafafed vy ¥ 3T 7e fawedt & ¥ favd sierf &1 gml
Options:

1) RLFZ

2) KDXR

3) PIDX

4) TNHB

Correct Answer: KDXR

Candidate Answer: KDXR

QID : 215 - In the following question, select the odd letters from the given alternatives.

frafafed uy & fau 7u feedl ¥ fawm oferl &1 gful
Options:

1) XAD

2)I10

3) TWZ

4) FIM

Correct Answer: FIM

Candidate Answer: FIM

QID : 216 - In the following question, select the odd number from the given alternatives.

frafafea uy & faw U fawedt & 9§ favm e & gy
Options:

1)13-5

2)15-7

3)12-6

4)14-6

Correct Answer: 12 -6

Candidate Answer: [ NOT ANSWERED ]

QID : 217 - In the following question, select the odd number pair from the given alternatives.

frafafred uy & fow T fawedl & ¥ fowm e g &1 gl
Options:

1) 93 - 97

2) 84 -88

3) 54 -58

4)29-35

Correct Answer: 29 — 35

Candidate Answer: 29 - 35

QID : 218 - In the following question, select the odd number pair from the given alternatives.

fafoRad gy ¥ U U fawed & 9 faww Wem gm & gl
Options:

1)11-13

2)17-19

3)23-31

4)31-37

Correct Answer: 23 - 31

Candidate Answer: 23 — 31
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QID : 219 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Reality

2. Receptive
3. Rebound
4. Realism
5. Realize

fafafed Weal 31 UG H o aTd HH & IR g |

1. Reality

2. Receptive
3. Rebound
4. Realism
5. Realize

Options:
1) 45132

2) 41532
3) 41523

4) 45123
Correct Answer: 41532
Candidate Answer: 41532

QID : 220 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shapely
2. Shoddy
3. Shelve
4. Short
5. Sharp

fafafed Weal ®1 UG H 3 aTdl HH & IR g |

1. Shapely
2. Shoddy
3. Shelve
4. Short
5. Sharp

Options:
1) 15234

2) 51234
3) 15324

4) 51324
Correct Answer: 15324
Candidate Answer: 15324

QID : 221 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Stern
2. Startle
3. Steep
4, Storm
5. Stick

fafafed Weal 31 AEHI H 3 aTdl HH & IR |

1. Stern
2, Startle
3. Steep
4. Storm
5. Stick

Options:
1) 23451
2) 23154
3) 23145

4) 23415
Correct Answer: 23154
Candidate Answer: 23154
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QID : 222 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
APRQ, ZLQM, YHPI, XDOE, ?
H 3gehd o T 8, o ¥ ue ue g B U T faw et # 9 9 uet Ao g, S o d & |

APRQ, ZLQM, YHPI, XDOE, ?
Options:
1) VXNZ

2) WXOA
3) VXMB

4) WZNA
Correct Answer: WZNA
Candidate Answer: WZNA

QID : 223 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
RIM, UNT, XSA, AXH, ?
T 3gehd foar T B, o ¥ U U gw B 3 T fawedt § 9 9 udt fawen g, S orgemd B |

RIM, UNT, XSA, AXH, ?
Options:

1) CBM

2) DCO

3) DBN

4) CCO
Correct Answer: DCO
Candidate Answer: DCO

QID : 224 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FC, DA, BY, ZW, ?
T S e 7 B, R 9 v ve g 71 fu e et # ¥ 95 9 fawed g, St 3 B R

FC, DA, BY, ZW, ?
Options:
1) YU

2) XU
3) YW

4) Xv
Correct Answer: XU
Candidate Answer: XU

QID : 225 - In the following question, select the missing number from the given alternatives.
14, 35, 87.5, ?, 546.875
fafafad uy & iU U fawedl & 9 g 8i J1d Siforg|

14, 35, 87.5, ?, 546.875
Options:

1) 218.75

2) 262.5

3) 192.75

4) 178.5

Correct Answer: 218.75
Candidate Answer: [ NOT ANSWERED ]

QID : 226 - In the following question, select the missing number from the given alternatives..
43, 21.5, 21.5, 43, ?, 1376
frafafed uy & fau T fieed # ¥ g sid 1d Sife|

43, 21.5, 21.5, 43, ?, 1376
Options:

1) 172

2) 138

3) 124

4) 194

Correct Answer: 172 “
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Candidate Answer: [ NOT ANSWERED ]

QID : 227 - In the following question, select the missing nhumber from the given alternatives.
81, 23,104, 127, 231, ?
frafafed uy & faw 7 fAwed # ¥ g 8id 1d Sifm|

81, 23,104, 127, 231, ?
Options:

1) 392

2) 440

3) 324

4) 358

Correct Answer: 358
Candidate Answer: 358

QID : 228 - E is taller than D, C is taller than E, A is taller than E and B is taller than C. Who is the second shortest?

E,DIAFAE, CEAGAE, A EX ST R B, CA S 81 IR T BleT HH 82
Options:

1)D

2)E

3)A

4)C
Correct Answer: E
Candidate Answer: E

QID : 229 - D's mother's father is C's father's father-in-law. How are C and D related if D is male and C female?

D &t 41 & T ¢ & it & TR §1 ¢ ok D forw ke Tefa & afe D ew aur c =i @2
Options:

1) D is C's wife's brother

D, C &I Uit &7 UE 8

2) Cis sister of D's wife

C,DHUR P T

3) D is C's brother

D, CHIUE§

4) C is mother of D's wife

C, DB UM BT ATY

Correct Answer: D is C's brother

D, CHTHE §

Candidate Answer: [ NOT ANSWERED ]

QID : 230 - From the given alternative words select the word which cannot be formed using the letters of the given word.
WAVELENGTH

frafafed fowedl § ¥ a8 Weg Y off ST 1T XMeg & 1&RT BT TANT Hb gl a1 ol Gabvdll:

WAVELENGTH
Options:

1) wheat

2) valet

3) halve

4) given
Correct Answer: given
Candidate Answer: given

QID : 231 - If MORTALS is coded as LNQSZKR, then how will BIN be coded as?

Jf& MORTALS &1 H18 & LNQSZKR f3RaT SITaT 2 df BIN &1 1S & H9 forar samm?
Options:
1) YRM

2) AHM
3) DKP

4) CI0
Correct Answer: AHM
Candidate Answer: AHM
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QID : 232 - In a certain code language, 6532 means 'change the TV channel', 8965 means 'give back the change' and 1246 means 'channel the inner energy'. Find
the code for 'channel'.

foadt fRfyra wis o & 6532 P71 3f § ‘change the TV channel', 8965 &1 3f g 'give back the change' 3R 1246 &1 31 § 'channel the inner energy'l 'channel' % forg
HIS A PR

Options:

1)3

2)5
3)6

4)2
Correct Answer: 2
Candidate Answer: 2

QID : 233 - In a certain code language, '+' represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
950x50+8-5+20=7?
foeht Pfyd P u & '+, - B veRid HRar g, -, % B UeRiad s 8, X, '+ B UeRid HRar g R '+, '+ & velRid wRar 81 Fufafed vy &1 3w 39 w¥?

950 x50+ 8-5+20=7?

Options:

1)4

2) 58

3)-32

4) -1

Correct Answer: -1

Candidate Answer: [ NOT ANSWERED ]

QID:234-If7@3=8,10@ 2 =16 and 70 @ 40 = 60, then find the valueof 7@ 5 = ?

IE7@3=8,1002=163R70@40 =60, dA 7 @ 5 = ? P M J1d H?
Options:

1) 35

2)4

3)2

4)75

Correct Answer: 4

Candidate Answer: 4

QID : 235 - If A * B means A is mother of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does G % H * I + J mean?

IEA*BHTHSBIH A BB TR, A+ BB GfH A BH TR MARA%BHF G SFA BB EHENGU H* I+ 1T 3rf g2
Options:

1) G is sister of J

G I TETR

2) G is mother of J

G lP g

3) G is daughter of J

G IPI TR

4) G is sister of J's wife

G, ] P Ud Bt 58T §

Correct Answer: G is sister of J

G 1B IR

Candidate Answer: G is sister of ]
GI# TR

QID : 236 -

Select the missing number from the given responses

f g et # & o8 weT g

4 2

~
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Options:
1)3

2)4
3)1

4) -4
Correct Answer: -4
Candidate Answer: [ NOT ANSWERED ]

QID : 237 - Which of the following terms follows the trend of the given list?
000X00, 0000X0, OO000X, XOO00O, OXO000,
frofafed & 9 o1 @1 ug < i g & F1 & oER 72

000X00, O000X0, OOO0OX, XOO000, OXO000,
Options:

1) OOX000

2) OXO000

3) O0O0X00

4) O0O00XO

Correct Answer: OOXO00

Candidate Answer: O0OXO00

QID : 238 - A women leaves her hut and walks 2 km West, then she turns North and walks 7 km, then she turns East and walks 1 km, then she turns South and
walks 3 km, then she turns to her left and walks 1 km to reach the well. Where is this well with respect to her hut?

T AR 3o ISt § 2 fhaidieR ufdm Pt iR ot 81 fR 98 ST @1 3R Gedt § #iR 7 fhaiier gadt ¥ 39 918 98 Ud 31 3R ggaw 1 fpaHieR Iad 81
?ﬁﬁ%ﬁﬁ?g@?ﬁ%ﬁm%ﬁaaﬁ%magsmﬁar%&higgaﬁésh?1WW@WW%|MM%W%H§&M?51@H

Options:

1) 4 km South

4 framitex afémor

2) 10 km North

10 foremfier I

3) 10 km South

10 fpaiieR 2fémor

4) 4 km North

4 frdmier 3™

Correct Answer: 4 km North
4 fradiey W

Candidate Answer: 4 km North
4 fraHiey W

QID : 239 - Two siblings start from home to go to their respective schools. The brother goes 6 km West, then turns right and goes 3 km and reaches his school.
The sister goes 2 km South, then 4 km East, then turns left and goes 5 km and reaches her school. Where is the sister's school with respect to the brother's school?

B YIE 95 WR I 37 Tpd & oY Ia1 URY &R &1 HIS 6 fraitiiex ufdm &t oiik aerar 8 iR o1 oIk geaw 3 fraitfiey 9o 3/u- Thd Ugadl 81 98 2
mgﬁaai‘&rmaﬁahwa?ﬁ% R 4 framier gd & oiR Tl 7 3R fhR a1 3R geaw 5 fraitiier Taa e Wd ugsdl 71 uﬁ%w%wﬁﬁmmm
Helig?

Options:

1) 10 km West

10

2) 10 km East

10

3) 2 km East

2 fpaiex
4) 2 km West
2

Correct Answer: 10 km East
10

Candidate Answer: 10 km East
10
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QID : 240 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No soldiers are french
Statement II: All europeans are french

Conclusion I: Some french are europeans
Conclusion II: Some soldiers are europeans

Ts H < U e T € o o &) e 1 3R 11 FiepTal T B 1 3! AT ® o S U 9 © TR 9% IMaa: T aet i vielia g1 8 emuee! fAufa s
? o1 fou 7 e # @ oF-T/eH-8 R T0 ¥ S gR1 I8 e S Ihdr 3/9%d 3, afe B8 81

HYT I: BIS RO e T8 &
P IL: It R % §

ey 1: 9o ha WTw §

sy 11: o R Rt §

Options:

1) Only conclusion I follows

Sad ey 1 91 &

2) Only conclusion II follows

Fad ey 11 T8t §

3) Both conclusions I and II follow

& e 1 ofR 11 et @

4) Neither conclusion I nor conclusion II follows

1 d A 1 98} ® 1 € s 11

Correct Answer: Only conclusion I follows

Fad ey 1 981 2

Candidate Answer: Only conclusion I follows

Fad ey 1 98 §

QID : 241 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it seems
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All passes are valleys
Statement II: Some passes are mountains
Statement III: Some hills are mountains as well as valleys

Conclusion I: Some hills are passes
Conclusion II: Some mountains are valleys
Conclusion III: All valleys are hills

Uy 7wy 23 ) § g o) fiF s 1, 11 3R 111 Frel T § 1 3i1aee) J1 R 6 i ue g § 91 98 Irrd: Td 9t ¥ e udfia 8 811 eimue) fRfg
FHT § B fou T st & ¥ PH-T/PH- R U T S gRT Tt FHbTe ST T 3/9%d §, e B 8

HY I: 9ot ¥ wifeai €
FYF II: $F & Udd §
PYF III: $ Uelfedr udd § aur aret of §

ey I: $o TeIfeai &l 8
e 11: $© yda aeal §
e 11x: et efeat vsifear €
Options:

1) Only conclusion I follows

Fad fswy 198 8

2) Only conclusion II follows
Had sy 11 T8 8

3) Only conclusions I and II follow
Fad fey 1 3R 11 9e §

4) All conclusions I, II and III follow

I e 1, 11 SR I TE R

Correct Answer: Only conclusion II follows

Fad ey 11 I8t

Candidate Answer: Only conclusions I and II follow

Fad ey 1 3R 11 T 8
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QID:242-

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

frfoRad SR arefer 3 & i @1 o fau T oy
3TTPIT 5 ot & F ST T&| ST AbT?

Options:

N =
| .v

=

w
-

8

2

&

Correct Answer:

By
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Candidate Answer:

o=

QID : 243 -

Which of the following answer figure patterns
can be combined to make the guestion figure?

frferaa IR el 7 & i & HfredT 1
TSR ST T I SATPIeT T ST AT FaelT 87

Options:

1)

2)

3)

Correct Answer:

Candidate Answer:

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




QID: 244 -

In the following figure, square represents Dentists,
triangle represents Collectors, circle represents Indians
and rectangle represents Women. Which set of letters
represents Indians who are either collectors or women?

frforas fom o of, Sfeeew ot wefifa awan &, frge
orre] Bl HEfeT PR 8, g ARCIA] T T2 AR
Afeenail @t el Hear 81 7Rl & B & THE 37
VR BT FEfRia Bt & S a7 & seleey & a1 Afee 87

G
Vg
e/
B| [D H
F
A C

b
Options:
1) DEF
2) GFH
3) IEF
4) CDE

Correct Answer: DEF
Candidate Answer: DEF

QID : 245 -

Which of the following Venn diagrams represents the
relationship between Gold, Silver and Gold coins ?

frfarfad & & = a7 39 9=, arel ok 99 &
ot F gy cofar 87
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Options:
1)

©

2)

3)

©
O

4)

Correct Answer:

©0

Candidate Answer:

©0

QID: 246 -

Which answer figure will complete the pattern in the
question figure?

fer=rferRae & & -0 SR arrgpfer we spfer & ufted

I IR B2
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a
N, A

2)

<
i

3)

4)

Correct Answer:

<
N\

Candidate Answer:

<
i

QID : 247 -

From the given answer figures, select the one in which
the question figure is hidden/fembedded.

<1 it SR it H & 99 iy B gAY o
amepfer ffee 21
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Options:

2%

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 248 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T TP 7 FERATT SR HITST Y AIgehR I
B B TUT et & SIS T8 febel ST SATPier iy
fearg <m?
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Options:
1)

2)

3)

[o)e]
o0

4)

y OO0 ¢

Correct Answer:
&) = )
D q
0 e O

Candidate Answer: [ NOT ANSWERED ]
QID: 249 -
If a mirror is placed on the line MN, then which

of the answer figures is the right image of the
given figure?

Ife T YT T MN RGT U RGT 911 7 S =i SR

JMHrT 7 & PI-HT THTT Tor Mepfer T T
ufcifar 2rfi?
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Options:
1)

Correct Answer:

Candidate Answer:

QID : 250 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-I|
are numbered from S to 9. A lefter from these matrices can be represented
first by its row and next by its column, for example 'E' can be represented by
41, 32 elc and 'U" can be represented by 95, 87 etc. Similarly, you have to
identify the set for the word "MAXI"..

T 916 e (e SCAT-TTE @1 i T &, S fo et 3 ¥ el e o
e 21 et ¥ g g W STERT & &t AT g Sy Y E, S s
T e &t ammeEl # &1 TTeE-1 & T AR ufes 6t T 0 % 4 AR 3reE-| B 5
¥ 9 21 3 offeEl ¥ Ueb 23R BT Uge I Ui affe are ¥ we g gr eufar
T T &1 SEERYT & 10 B @Y 41, 32 anf g gafar 5 wear & qer U @&
95, 87 a7fa gRT Serfar o T &1 2t ovE U s K H By awg MAXI' F

fore & 1 gEaE 2]
Matrix | HTEE-| Matrix |l Smqes

1] 1 2 3 4d 5 3] 7 B 9
a G M M K 5] 5 u o u ¥ W
1 K .} ] I C ] R P o z u
2z M | F B H 7 X z L] Q 5
3 L] L E H G ] X W u N W
4 K E M K [} L 4] 1l 3 L] L1 Z
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Options:
1) 02,34,67,89

2) 01,56,32,98
3) 30,11,96,13

4) 34,76,43,01
Correct Answer: 30,11,96,13
Candidate Answer: 30,11,96,13

QID : 251 - Which of the following is called a 'banker's cheque'?

9 & 3 frd S A% HT AT 82
Options:

1) IPO

s

2) DD

It

3)FD

Bt

4) RD

3RSt

Correct Answer: DD

Candidate Answer: DD

QID : 252 - The place where bankers meet and settle their mutual claims and accounts is known as

Options:
1) Clearing House

BISH
2) Treasury
DITFTR

3) Cheque Scanning
AP Wi
4) No option is correct.

Correct Answer: Clearing House

ESIRIRURRE]

Candidate Answer: Clearing House
'I3H

QID : 253 - Which among the following formulates fiscal policy?

fFafifea & ¥ o1 Ao ifd TuR S 82
Options:

1) RBI

RIS

2) SEBI

Jeit

3) IRDA

MRS
4) Finance Ministry
IEREEIND

Correct Answer: Finance Ministry
o dare
Candidate Answer: [ NOT ANSWERED ]

QID : 254 - The Zero Base Budgeting in India was first experimented from which year?

YRA § Y 3NuTRd goie o ay § ugel IR wanT fasan mar ur?
Options:
1) 1984

2) 1985
3) 1987

4) 1989
Correct Answer: 1987
Candidate Answer: [ NOT ANSWERED ]

QID : 255 - In economic terms, which of the following factors determine the 'Individual's demand' of a product/commodity?

e Trearact ®, g o F B T PR IdTe/axg B 'SfaarTd AT BT HuRor swar 22
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Options:

1) Price of a commodity

T Pt B

2) Income of the consumer

JuIEd BT 3T

3) Taste and Preference of consumer
Iqiaa @1 3 3R THG

4) All options are correct.

it fawey gt §

Correct Answer: All options are correct.

Tt faped Tt &,
Candidate Answer: [ NOT ANSWERED ]

QID : 256 - Who among the following was never the Lok Sabha Speaker?

froffad # ¥ B F3 Ay siege T8t W)?
Options:

1) Meira Kumar

IR $AR

2) Balram Jakhar

IR SIS

3) Chandrashekhar

4) GMC Balyogi
STl sreranh
(;orrect Answer: Chandrashekhar

Candidate Answer: [ NOT ANSWERED ]

QID : 257 - On whose advice does the President of India appoint a state governor?

HRT & AFULT [H5ud! T R e 50 & Ieaurd &1 Fgfad Fd 82
Options:

1) Chief Justice of India

URA & T R

2) Chief Minister of the State

IJTH F '

3) Prime Minister of India

URA & HT=H

4) Vice President of India

URA &

Correct Answer: Prime Minister of India
YR & YeTTHAT

Candidate Answer: Chief Justice of India
YR & TT =

QID : 258 - The concept of Public Interest Litigation originated in which of the following countries?

frofafed & 3 feg S & Tfed a1t 3t suRuT 37 §3?
Options:
:!.) Epgland

2) USA
Kl

3) Russia
=
4) China
GG

Correct Answer: USA

Candidate Answer: [ NOT ANSWERED ]

QID : 259 - Who among the following decides whether a particular bill is a Money Bill or not?
i & 3 oH Fuiia wxar 3 75 3 dus o fdus § a1k

Options:

1) Finance Minister

faa &=

2) President of India
HRd &

3) Loksabha Speaker
AHIUT ST

4) Vice President of India
HRA &

Correct Answer: Loksabha Speaker

AIBGHT T8
Candidate Answer: [ NOT ANSWERED ]
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QID : 260 - Which of the following States sends the maximum number of members to the Rajya Sabha?

0 B QP a1 I ey § Tew 3 e TR YT 82
Options:

1) Uttar Pradesh

JWR U

2) Rajasthan

XIOTRITH

3) Maharashtra

4) Madhya Pradesh
e UeR

Correct Answer: Uttar Pradesh
FIWR U

Candidate Answer: Uttar Pradesh
JIWR U

QID : 261 - Chandella Kings are related to which of the following temples?
Frofofad dfeRt & & e e fFrad Teifda 82

Options:

1) Khajuraho

2) Tirupati

3) Rameshwaram
TR

4) Badrinath
T

Correct Answer: Khajuraho

Candidate Answer: [ NOT ANSWERED ]

QID : 262 - In which language did most Buddhist texts were written?

aig o & aifiret Ty e v F fer Tw &2
Options:
1.) Sanskrit

q¥pd

2) Magadhi
et

3) Prakrit

Ulpd

4) Pali

i

Correct Answer: Pali

Candidate Answer: Pali

QID : 263 - Who established the “Atmiya Sabha” a precursor organization in the socio-religious reforms in Bengal?

Sa § grATfore-enfiie GURY o SRroft W1 stedt guT Y R fahaa & e
Options:
1) Tulsidas

2) Malik Muhammad Jayasi

Hiee Yo Sgd!
3) Surdas

Pard
4) Kabirdas

Correct Answer: Malik Muhammad Jayasi
Al Yewe S
Candidate Answer: [ NOT ANSWERED ]

QID : 264 - Who was the first Indian to get selected in ICS?

sy # Tafd g aTd Ugd WRdla B 32
Options:
1) Dadabhai Naorojee
gIaTHTS RIS
2) Subhash Chand Bose
JHIN Tie 819
3) Ravindra Nath Tagore
e SR
4) Satyendra Nath Tagore

]
Correct Answer: Satyendra Nath Tagore
B Uf
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Candiqate Answer: Subhash Chand Bose
JHTY Tig a9

QID : 265 - Who established the “Atmiya Sabha” a precursor in the socio-religious reforms in Bengal?

e § grAforen-enfife guRY o Srroft vsireft qur @ Yeend fhm @t ofi?
Options:
1) Vivgkanand

2) Dayanand Saraswati
UIET

3) Raja Ram Mohan Roy
ST 9 T AT

4) Arbindo

SRfsEr

Correct Answer: Raja Ram Mohan Roy
3T X Hig A
Candidate Answer: [ NOT ANSWERED ]

QID : 266 - In which State is the Guru Shikhar Peak located?

T R =t o wro ¥ fRud €2
Options:
1) Tamil Nadu

2) Rajsthan
RERIE]
3) Himachal Pradesh

4) Andhra Pradesh

7Y UG

Correct Answer: Rajsthan

RERIE]

Candidate Answer: [ NOT ANSWERED ]

QID : 267 - Through which of the following countries does the Tropic of Capricorn pass?

frofoied o 9 frw 33 3 Siox A 3T ToRdl 82
Options:
12’Australia

2) Brazil
EISIS]
3) Chile
foreht

4) All options are correct.

T fipew 98 8.

Correct Answer: All options are correct.

Tt ey gt

Candidate Answer: All options are correct.

it forey T €.

QID : 268 - Which among the following countries has the world’s largest reserves of Uranium?

frafiied & 3w 2 & o R 31 3y &1 9 987 HeR 82
Options:

1) Russia

=

2) Kazakhstan

DD

31Austra|ia

4) Jordan

Correct Answer: Australia
Candidate Answer: Kazakhstan
DDA

QID : 269 - What is the new name of Jog or Gerosoppa waterfall?

ST O TR et UUTd ST T AW 1 87
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Options:

1) Mahatma Gandhi Waterfall

HETHT TITE Set guTd

2) Jawaharlal Nehru Waterfall

ECIRGIGRERLIG

3) Sardar Patel Waterfall

WER g e JuTd

4) Rajiv Gandhi Waterfall
et St wura

Correct Answer: Mahatma Gandhi Waterfall
TETEAT it &at yaTa
Candidate Answer: [ NOT ANSWERED ]

QID : 270 - Which one of the following states receives the highest rainfall during winter months?

a7 3 o Troa o Sfdat & we & 9 ofe anf gt 82
Options:
1) Mizoram

2) Uttarakhand
3) Tamil Nadu

4) Bihar
Correct Answer: Tamil Nadu

Candidate Answer: Tamil Nadu

QID : 271 - Which state passed a bill awarding death penalty to those found guilty of raping minors in December, 2017?

g g A fgeR, 2017 # TrEIeNT & WY TAPR F QI GTT T AT & FEs o &1 [3daes oilkd fasare
Options:

1) Punjab

ESIE]

2) Madhya Pradesh

T T

3) Haryana

ghamn

4) Uttar Pradesh
FR U

Correct Answer: Madhya Pradesh
o UeH

Candidate Answer: [ NOT ANSWERED ]

QID : 272 - Union Government has framed a scheme for setting up how many special courts to fast track criminal cases against tainted MP and MLA leaders?

Fg WHR 7 T FeT 3R faumas! & Rare s At o a3 Fuem ¥ o fran = seradl &1 RIeHT 3t Gie a1 82
Opti :

D0

2) 11

3)12

4) 13

Correct Answer: 12

Candidate Answer: [ NOT ANSWERED ]

QID : 273 - India’s Manushi Chhillar won the coveted Miss World 2017 crown. Where was held it?

URA Bt A fFweR = ufaf¥d oy acs 2017 &1 Radra SitdT| T8 Sl i fvar mar ur
Options:
1) China

2) France
ans)

3) India
YRd

4) Canada
DTST

Correct Answer: China

Candidate Answer: China

QID : 274 - Which of the following countries hosted a world chess tournament for the first time in year 2017?

a9 2017 & Fofofaa & 9 frg 33 3 ueeh IR fay o’ gAtde &t Bart $1?
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Options:
1) Norway
BIG]

2) Armenia
3) Azerbaijan
TR

4) Saudi Arabia
TSl oR

Correct Answer: Saudi Arabia
BETARERC
Candidate Answer: [ NOT ANSWERED ]

QID : 275 - India won the first-ever South Asian Regional Badminton Team Championship. India defeated which of the following team?

YR 3 Ugell §R 2o tREE &=y Ssfties dn IfrmARu shdt vRa 3 B 3 § fva &9 o) v
Options:

1) Pakistan

rfhea™

2) Bhutan
Y™

3) Nepal
ure

4) Bangladesh
CREIE

Correct Answer: Nepal

Candidate Answer: [ NOT ANSWERED ]

QID : 276 - “Non-Stop India” is written by .

-y S gy foredt 77 B
Options:

1) Sudha Murthy

g i

2) Dalai Lama

Tars amt

3) Mark Tully

T Tt

4) Chetan Bhagat
Jaq W

Correct Answer: Mark Tully

Candidate Answer: [ NOT ANSWERED ]

QID : 277 - Which musical artist won the Indira Gandhi Award for National Integration in October 2017?

forg iR 7 sregeR 2017 # e Mieh AP Thdl [REBR il 82
Options:

1) T. M. Krishna

<. . Fwn

2) M. S. Subbulakshmi

TH. TY. Yegaigrt
3) A. R. Rahman

T. 3R. XgHM

4) All options are correct.

Tt fasren O €1

Correct Answer: T. M. Krishna
<. . Fun

Candidate Answer: All options are correct.

it faspen It B

QID : 278 - ‘Festival of India’ was organized in which country from 31 August to 9 September 2017?
“YRA T AR e 3= ¥ 31 3ARa § 9 RyawaR 2017 % AR fwar mar ur

Options:
1) Italy
gt

2) London
Sl

3) Brazil
EINIS]

4) I\\'lew York

Correct Answer: Brazil

Candidate Answer: [ NOT ANSWERED ]
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QID : 279 - Which of the following agreement has been signed between India and Israel in July 2017?
g 2017 #, e & ¥ 4R U SRS $ Hed fH T IHEA W gwIER fH U 82

Options:

1) Agreement for transfer of sentenced person

Tl BIE I A P VIR F g Foshar

2) MoU on cooperation in organ transplantation
SAT-YIRITU H el % forg Twgiiar o=

3) Agreement on technology in civil aviation

IR faar o

4) MoU on state water utility reform in India

HRA # SToT ST GUR & forg gwsgiiar a1

Correct Answer: MoU on state water utility reform in India
YRd B S ST YR & forg wwhiar ra=

Candidate Answer: MoU on state water utility reform in India
YR ¥ fd IUAAT GUR & fore qeehiar o=

QID : 280 - Which of the following operation was launched by Indian government to help Rohingya refugees in Bangladesh?

URT PR gRT Femew § Afewar IRonffa @t werar & o Fufafad & § o9 a1 siuRee = a2
Options:

1) Manavta

g

2) Insaniyat

3) Mother
R
4) Pahel

ugd
(_:orrect Answer: Insaniyat

Candidate Answer: Insaniyat

QID : 281 - Servers are computers that provide resources which are connected to a

TR I PR § O T IJu IR § S BASERE
Options:

1) client

ENIES

2) network

3) supercomputer

IR DR

4) mainframe
Correct Answer: network

Candidate Answer: network

QID : 282 - Which of the following is a binary number?

fuffed # @ oF & e TR 9e 82
Options:
1) 100101

2) 2341
3) 101C11

4) 5F6034
Correct Answer: 100101
Candidate Answer: 100101

QID : 283 - Which alloy is made of essentially copper and tin?

DI At fArgreg e SR quT o § o=t 82
Options:

1) Brass

I G[]

2) Bronze
Canl

3) Solder
BSIIGRd

4) Ranga
I

Cgrrect Answer: Bronze

Akl

Candidate Answer: [ NOT ANSWH
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QID : 284 - Incomplete combustion of a fuel gives poisonous gas.

e % Ui ggT ¥ fodeh 19 St 31
Options:
1) carbon tyoxide

Fra SRS
2) isocynate

3) Carbon monoxide

BB 13 | B
4) nitrogen
Correct Answer: Carbon monoxide
B AHISHTFES
Candidate Answer: Carbon monoxide
FIa TS

QID : 285 - What is value of pH of a neutral solution?

el I faeras 1 diea 7 o1 i 22
Options:

1)7.0

2) 6.5

3)7.5

4) 6.0
Correct Answer: 7.0
Candidate Answer: 7.0

QID : 286 - Which base is generally found in soaps?

TIE: WG B B 1 &R IRl I 82
Options:
1) Calcium hydroxide

2) Ammonium hydroxide

3) Sodium hydroxide

Hifsay

4) Magnesium hydroxide

A gRgeRs

Correct Answer: Sodium hydroxide

Candidate Answer: Sodium hydroxide

QID : 287 - Which type of image is always formed by a convex mirror?

I. Real
II. Virtual
III. Enlarged

T U U0 9&d 59 UHR BT Ufafers sram 82

1. adfd®

IL. 3T

111. faafda
Options:

1) Only I

PHad I

2) Only II

FHad I

3) Only I and III
Had I T 11T
4) Only II and III
Had I1 9T 111

Correct Answer: Only II

Fad 11
Candidate Answer: [ NOT ANSWERED ]

QID : 288 - There is a circular coil having n turns. The field produced is how many times larger than produced by a coil of single turn?

n T3l ATc 1S FUSH ¥ IUT YaBIT & Ubd B gRT ST GEBIT & b1 JorTT H fobe1 1 ghelr 82
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Options:
1)n

2) n?
3)n/2

4) n?/2
Correct Answer: n
Candidate Answer: [ NOT ANSWERED ]

QID : 289 - Which of the following is NOT an example of a biomass energy source?

fgfafad § ¥ &F 1 SiaUR (SEHERT) Sl T BT 3aex0 T8l 87
Options:

1) Wood

qwer

2) Gobar gas
TR g

3) Atomic energy
BT St

4) Coal
D

Correct Answer: Atomic energy

DT SHott

Candidate Answer: Atomic energy

QID : 290 - Density of water when it freezes.

S ST S S 8 dl S9! 9 |
Options:

1) decreases

gedl g

2) increases

Sad g

3) remain constant

I AT 8
4) No option is correct.

DS AT gt T B
Correct Answer: decreases
Hedi g

Candidate Answer: decreases
qed g

QID : 291 - Which human organ gets majorly affected due to Vitamin D deficiency?

faeii €t @t Hrit & FRU TEa: S 1 HFG ST YU BT 82
Options:

1) Eyes

is

2) Skin
el

3) Hair
4) Bone

Correct Answer: Bone

Candidate Answer: Skin
ol
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QID:292-
Match the structures given in column (A) with the
functions given in column (B).

Column - A Column -B
. Stomata 1. Absorption of water
. Xylem 2. Transpiration
Ill. Root hairs 3. Transport of food
IV. Phloem 4. Transport of water
5. Synthesis of

carbohydrates

T F) F & 7S dr=enet w =Y @) 7 7
I AT B fFHema Hifem)

TEH - F TWH - T
L ™ 1. STl @ G
Il SgeH 2. aTSUICHeT
I 3fer AR 3. e @ uftaee
V. weiTH 4. Fo @ Uiaed
5. EIEEaT & gEyoT

Options:
1) I-1, I1-2, I1I-3, IV-4

2) I-2, I1-4, I1I-1, IV-3
3) I-1, I1-2, I1I-4, IV-3

4) I1-1, I1-3, 111-2, IV-4
Correct Answer: 1-2, 11-4, I1I-1, IV-3
Candidate Answer: [ NOT ANSWERED ]

QID : 293 - What is called the process of fusion of the male and the female gametes?

HTHWWW%WWWWW%?
Options:

1) Fertilisation

IBLEE

2) Pollination
TRITOT

3) Reproduction
S

4) Seed formation

Correct Answer: Fertilisation

Candidate Answer: Fertilisation

QID : 294 - Which of the following is in monera group?
fofafed & 3 o A agg # ot 32

Options:

1) Mushrooms
UR=H

2) Yeast

e

3) Bacteria

4) Moss

Ddd (HIY)

Correct Answer: Bacteria

Candidate Answer: [ NOT ANSWERED ]

QID : 295 - Eyes must be removed within

TG & UYId “FaM & forg 4t o

hours after the death for eye donation.

i 3 oy D 2oz
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Options:
1)6

2)8
3)12

4) 24
Correct Answer: 6
Candidate Answer: 24

QID : 296 - Which of the following is/are agent(s) of infection?

fofafaa 7 ¥ B9 9 THAT P RS 8/3?
Options:

1) Physical contact

AR Tuds

2) Vectors

3) Water
EG)
4) All options are correct.

Tuff farey I B

Correct Answer: All options are correct.

T e wet B
Candidate Answer: All options are correct.

Tt faew Ot §1

QID : 297 - Which of the following is NOTa forest product?

frafafaa & @ o1 o1 a7 Sare e 82
Options:
1) Gum

2) Plywood

3) Sealing wax

I HA aret arg

4) Kerosene

gt e aa

Correct Answer: Kerosene
[EE K]

Candidate Answer: Kerosene
et &1 aa

QID : 298 - According to World Wide Fund, which of the following river of India is one of the ten most endangered rivers in the world?

TR IS B & IR, HRd B B It 7 g &1 58 gravm Al § 4 v 82
Options:

1) River Jamuna

ST T

2) River Ganges

T A

3) River Brahamputra

ERRERED

4) River Godavari
(;orrect Answer: River Ganges

T )
Candidate Answer: [ NOT ANSWERED ]

QID : 299 - Montreal Protocol is related to which of the following?

Hifead MieieTa fFafifed 3 ¥ frad defia 82

Options:

1) E-waste

S HE

2) Ozone layer

S TR

3) Water pollution

SIe Uguor

4) No option is correct.

®I5 ey Hel e 8|

Correct Answer: Ozone layer
_d

Candidate Answer: Ozone layer

S TR

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




QID : 300 - Mission of Ramsar Convention is to conserve

IR JHAA BT I BT TRET B
Options:
1) wetland

SR

2) riv_ers
3) oceans

4) deserts
Correct Answer: wetland

Candidate Answer: [ NOT ANSWERED ]

QID : 301 - Which of the following materials has a large number of free electrons in it?

oo uerlf & ¥ frg o 9t Y & gud saaer- uie 9 82
Options:
1) Insulators

EEINE

2) Semiconductors
fefaTas
3) Conductors

BEINED

4) Resistors
URRIEES

Correct Answer: Conductors

BSEINED

Candidate Answer: Conductors

REISER

QID : 302 - Ampere is the S.I unit of

TR @1 TH.3MTE 3PS T
Options:

1) Charge

ST

2) Voltage
e

3) Resistance
Y
4) Current
agqa YRT
Correct Answer: Current
YRT
Candidate Answer: Current
fagaa um1

QID : 303 - Which one of the following material has lowest resistivity?

1 & I P T verd &) uieRiuwdT 999 1 gt 82
Options:
1) Conductors

2) Insulators

EeINCY

3) Semiconductors
fefaras
4) Resistors

e

Correct Answer: Conductors

BEINED

Candidate Answer: Conductors

REISER

QID : 304 - What will be the value of current (in A) through a resistor of 40 Ohms when the potential difference between two ends of the resistor is 20 V?

TH 40 31 & iRy W fIgauRT &7 A (TR ) 91 81T &id TfRies & A1 RI) & o9 [JarR 20 V 82
Options:

1)2

2)0.5

3)4

4)0.2

Correct Answer: 0.5

Candidate Answer: 0.5
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QID : 305 -
Determine the capacitance (in F) of a parallel plate
capacitor placed in air if the area of the parallel plate
capacitor is 2 N and the distance between the plates
is0.02m.

&l # TG W FHIATCR Toie HeTi dreamiyar (s #)
FRTFY, IR TR e g w Swe 2
Rt dadrgdr 0.02m &

Options:
1)

756x107""

2)
965x107"°

3)
8.85x107"

4)
6.65x107"°
Correct Answer:

8.85x107"
Candidate Answer: [ NOT ANSWERED ]

QID : 306 - What will be the value of current (in A) through a resistor, when the power dissipated through the resistor is 40 W and the potential difference between
the ends of the resistor is 100 V?

T T TfaRIY 40 dTe Wi BT TS T § 3R T UfeRIYd & < RIRY & s BT faHaR 100 diee ¢ df f[Agad ¥RT &1 I (THER o) 1 gm?
Options:

1) 0.4

2)4

3) 40

4) 0.04

Correct Answer: 0.4

Candidate Answer: 0.4

QID : 307 - What will be the length (in m) of a 10 Ohm wire, when the resistivity of the wire is 0.1 Ohms-m and the diameter of the wire is 0.5 m?

T 10 3H 910 dR &1 TS (F. H) 1 81, SfF aR &) UfaRieedr 0.1 3iH-HY. 3R =y 0.5 1. 82
Options:
1) 18.65

2) 19.62
3) 16.68

4) 14.25
Correct Answer: 19.62
Candidate Answer: [ NOT ANSWERED ]

QID : 308 - Two wires of the same cross sectional area have equal length. The resistance of first wire is three times the resistance of the other. What will be the
resistivity (in Ohms-m) of the wire that has low value of resistance, if the resistivity of the other wire is 3 Ohms-m?

TH THH YT S aTd &1 dR} &1 TS U T 81 U8d dR &1 Uikl g aR ¥ diF 1 81 &8 UfeR1Y aTdt dR & ufeRiyesdr (3ig-Hiex &) 7 ghft oFR
W AR B Uiy 3 iH-HieR 82

Options:

1)2

2)3

3)0.1

a1

Correct Answer: 1

Candidate Answer: 1
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QID : 309 -
Determine the total resistance of the circuit given below.

A Bu 7w ooy &1 da ofeder i &3

Buld A
/’._-\\rm\
N

40W, 40V

20 W, 40 V

@R D

Buld B

Y

Options:
1) 24.12

2) 23.36
3) 26.66

4) 28.86
Correct Answer: 26.66
Candidate Answer: 26.66
QID: 310 -
What will be the value of current 1" (in A) for the given circuit diagram?

T 373 ¥ TaeTeIRI ' &7 (UFIRR ) el T lan?

Options:
1) 1.77

2)2.24
3) 2.63

4)1.12
Correct Answer: 1.77
Candidate Answer: 1.12

QID : 311 - Which one of the following statement is TRUE?

0 5§ P o FuT wet 32

Options:

1) Kirchhoff’s current law is applicable tp only jgnctions in a network.

feai o1 faggaurt Fog T Sead § $ad SiewH W ] i1 1

2) Kirchhoff’s current law is applicable to only closed loops in a network.

=t o1 fagadyrT aw te Acad ¥ $ad §¢ U W R8I &

3) Kirchhoff’s current law is applicable to only electric circuits.

faatw o1 fagaaurt g Faa fagaa uiay w ar g 31

4) Kirchhoff’s current law is applicable to only electronic circuits.

foars #1 fagaaurT fFam Fad saaei=e uRuy W arg g gl

Correct Answer: Kirchhoff's currenE Iayv is applicable to only junctions in a network.
e o fagaaurt faw Ue Sead o FHad Sl R AR ald g

Candidate Answer: Kirchhoff’s current law is applicable to only junctions in a network.

=it 1 fagadurT faw t Acad H Had SR W AR ST 8

QID : 312 - On which of the following concept, the superposition theorem is based?

RO w0 Fafafed & 9 f5 s@eron wR snumid &2
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Options:
1) Duality
&d

2) Linearity
g

3) Reciprocity
IREIRE T

4) Non-linearity
X

Correct Answer: Linearity

Candidate Answer: Linearity

QID : 313 - The internal resistance of an ideal current source is

T Ses fagad uRT W T siaie ufaRte g gl
Options:
1) zero

b

2) one

b

3) negative
FUTHD

4) infinite
3Hd

Correct Answer: infinite
3d

Candidate Answer: infinite
3fd

QID : 314 - A point where two or more branches connect is called as

e foig ol @1 a1 &) & 3t wrant st § 39 &g ST B
Options:

1) branch

RUkClY

2) node

RIS

3) terminal
4) circuit

aRay
Correct Answer: node

Candidate Answer: node

QID: 315 -

Determine the value of Morton's resistance (jp, Q) for the given circuit.

fer o oftgy & v atca & ofaer &1 e /) A= g &3

A W YW——a—W ‘A

20 2Q 40Q
+ -
40V =40 Ry
/
< . 'B
Options:
1) 12
2) 16
3)6
4)4

Correct Answer: 6
Candidate Answer: 6

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




QID : 316 -

What will be the value of current (in A) through the 50 Q resistor of the
given circuit diagram?

few ae aRwy 3@ # 50 A fous & o) gl faggaurr &1 A
(TFI #H) &1 geme?

®1ov 1000 3500

Options:
1)1

2)4
3)2

4)3
Correct Answer: 2
Candidate Answer: 2

QID:317-

Determine the voltage (in V) across 40 Ohms resistor for the given
circuit diagram.

fer v afioy 3 F 40 HF gToiRe ¥ 9N 8T dieesT &l
(dee #) AT =T BEI?

v"r'\"‘ '\Nl'l"
10Q 400
200 100
60 V
:|
= ! +

Options:
1) 20

2) 30
3)15

4) 10
Correct Answer: 30
Candidate Answer: 30

QID: 318 -

What will be the value of current (in A) through 4 Ohms resistance for the
given circuit diagram?

few ame afger 3mv@ # 4 30 fcRis § gR el facgTarT &1 71 (TR #)
T g1amT?

VW VWA
30 40

— 20V 60 6 0 G 20A
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Options:
1) 8.9

2)7.2
3)3.5

4)6.3
Correct Answer: 8.9
Candidate Answer: 8.9

QID: 319 -
Determine Thevenin's eqguivalent resistance (in Ohms) and voltage
(in V) respectively across terminal ‘a’ and ‘b’ for the given electrical circuit.

fgw aw fagga afwy # e 2 AR b & IR Ffas aoded
afeRier @ #) X ateesr (@ee &) & &= Tl &7

W YW 0 a
100 5Q t

® 20v @ aa 100

Options:
1) 12, 40

2) 20, 80
3) 10, 30

4) 10, 50
Correct Answer: 10, 30
Candidate Answer: 10, 30

QID :320-

Determine the value of current (in A) through the load resistance of the
given circuit.

U 1w gRuer & offs 9idde & RO faqaaerT &1 A (WRR #)
fifia &1

R =100
2V .‘. 4v .‘. av.|.

Options:
1) 0.54

2)1
3)2

4)0.38
Correct Answer: 0.38
Candidate Answer: [ NOT ANSWERED ]

QID : 321 - The S.I unit of Intensity of magnetization is

B IGBRY B! TTel] B TH. TS SHTE &l
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Options:
1)

A

2)
N-wb™

3)
Wb

4)
N-A-
Correct Answer:
A
Candidate Answer: [ NOT ANSWERED ]

QID : 322 - Which one of the following material does not have a constant relative permeability?

T @ forg verd 3 emifEe uRmar fadie TEY St 82
Options:
1) Diamagnetic

2) P;ramagnetic
3) Ferromagnetic

4) Free space
|l ST
Correct Answer: Ferromagnetic

Candidate Answer: [ NOT ANSWERED ]

QID : 323 - Which one of the following is the reciprocal of magnetic permeability?

T q D P 1 TR BT ohH 872
Options:

1) Rgluctance

gfasy

2) Permeance

3) Susceptibility
RECSRIGEH!

4) Reluctivity

PSR

Correct Answer: Reluctivity
fersfHar

Candidate Answer: Reluctivity

PIRE Il
QID : 324 - The mathematical expression for magnetic permeability is

FPT YR & forg i sifveafa 7l
Options:
1)

@

F

2)
)
H

3)
m

A

4)
Ni
!

Correct Answer:
B

H
Candidate Answer: [ NOT ANSWERED ]

QID : 325 - What will be the magnetic susceptibility of material if the magnetic field strength of the material is 1200 A/m and the intensity of magnetization is 0.084
A/m?

e T uerd &1 JEB T &7 B g
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Options:
1)

05=x10™

2)
0.7=10"

3)
0.7 x107°

4)
05x107°

Correct Answer:
0.7=107

Candidate Answer: [ NOT ANSWERED ]

QID : 326 -

Options:
1) 60

2) 80
3)20

4) 30
Correct Answer: 80
Candidate Answer: [ NOT ANSWERED ]

QID : 327 - Determine the value of current (in A) in a coil, if it has 60 numbers of turns and produces a mmf of 30 Amp-turns.

I T IR T 60 TS § 3R I8 30 TR-AIS BT TH.TH.TW. Ilied Bl § I [agaaeRT &1 71 (TomR 7) FHufa &3
Dos

2) 1.4

3)1.2

4)0.5
Correct Answer: 0.5
Candidate Answer: 0.5

QID: 328 -
What will be the magnetic susceptibility of a material kept in free
space if the field strength of the material is 0.4 x107 A-m™ and the flux
density of the material is 12 T?

U @rell Sieg W W U Ugrd T e Hagaliear g,
I eI & e 0.4x10" Am™' & 3R uas g 12 T 87

Options:
1)1

2) 0.65
3)1.38

4) 2.36
Correct Answer: 1.38
Candidate Answer: [ NOT ANSWERED ]

QID: 329 -
A coil having area of 300 en and 120 turns is removed from a 60 T magnetic field

acting normally in 2 seconds. What is the magnitude of the induced EMF (in V) in the
coil?

F FIT FAEET @G 300 cn? 3R IWH 120 29 3, 60 TFAT & Tahr aF o
Foell OT FnieiPad ¥ 4 1 & 10 § A § 2 4% # Femal o Srdr §) dwell A
oftd STATE &1 9T (@ #/) F= A
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Options:
1) 108

2) 112
3) 104

4) 120
Correct Answer: 108
Candidate Answer: [ NOT ANSWERED ]

QID: 330 -

What will be the value of critical current (in &) through a wire that has a diameter of 4
mm at 10 K? If the critical temperature of the material is 20 K and the magnetic field
strength is 2 < 10° A-n!

10 &ieas amae W 4 HARICT & W a ai & Aead § Hilde fdedd 9 &
A (FRR #) =0 e 4fg wwE & Fifae aaEE 20 $feas § A g &
#r drgar 2<10° A )

Options:
1) 6.28

2) 18.84
3) 21.54

4) 22.68
Correct Answer: 18.84
Candidate Answer: [ NOT ANSWERED ]

QID : 331 - What will be the peak value (in A) of the current used by a washing machine rated at 230 V, 16 A?

230 diee, 16 THRR i od, QIRIT IRIF §RT SUANT foht S aTelt fagaauRT &1 3ifidad I (THRR &) o7 gImm?
Options:

1)0

2)16

3)20.38

4) 22.62
Correct Answer: 22.62
Candidate Answer: [ NOT ANSWERED ]

QID : 332 - Which of the following wave will have the highest RMS value for equal peak values?

il # ¥ 5 o 37 SR TH.T8 0 9o9 31 g1 o/ it aat o1 RRaR A1 U 9 82
Options:

1) Sine wave

ST aT (I3 39)

2) Sawtooth wave

JRTE T (I ¢Y 39)

3) Square

Fiffa (rR)
4) Triangular
ECaling

Correct Answer: Square
Fiffa (@rR)

Candidate Answer: Triangular

QID : 333 - What will be the frequency (in Hz) of a sinusoidal wave when the time period is 0.05 ms?

S TG BT 3ae 0.05 TH.TY gft, U Saaw g o Y Sghy (8¢ H) m g
Options:
1) 200

2) 2000
3) 20000

4) 200000
Correct Answer: 20000
Candidate Answer: 20000
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QID:334-
What is the value of capacitive susceptance (in Siemens) of the cireuit given below?

drr BT v oftgy 1 e wgesa &1 A @9 ) g7

10 mH

{7)
v <
=
2 2
3]
|
(9]
Q00 -

= 0.1mF

Options:
1) 0.0314

2) 0.314
3) 31.83

4) 318.3
Correct Answer: 0.0314
Candidate Answer: [ NOT ANSWERED ]

QID : 335 - What is the value of the phase angle (in degrees) of a series RL circuit having an impedance of 150 Ohms and inductance reactance of 90 Ohms when
supplied with a frequency of 50 Hz?

TP 150 37H P1 yfaarer 3R 90 317 PI IRebed Tifhan aTd SRaam 3R TS URTY BT ot H1o7 (33 ) a7 8171 SAR I¥A 50 5 B 3Mgfy < wmee
Options:
1)0

2) 36.87
3) 53.13

4) 80
Correct Answer: 36.87
Candidate Answer: 53.13

QID : 336 - In parallel LC circuit, what will be the value of current (in A) at resonance?

T&H TR T URUY H, 3ATG W [IgadeRT &1 31 (TRRR H) 31 GRI?
Options:
1)0

2) 10
3) 100

4) oo
Correct Answer: 0
Candidate Answer: 0

QID : 337 - Calculate the time (in seconds) taken by the capacitor of a series RC circuit having a capacitance of 0.01 mF and resistance of 300 Ohms, to get fully
charged.

TF §aa SR ufkuy &1 Heia et gufear 0.01 firel-1hvs ok uferly 300 o1 B, 38 G RE 91t a1 § fovan w03 (Y59 )
Options:

1) 0.007

2) 0.015

3)0.15

4)03

Correct Answer: 0.015

Candidate Answer: 0.3

QID : 338 - Which of the following is NOT correct about a delta connected balanced 3-phase circuit?

T Q B G HYF SeeT o Gdferd 3- o uRuy & aR § 9t e 87
Options:

1) The phase current is less than the line current.
ol fagaauRT ars fagadurT 9 &4 71

2) The phase voltage is equal to the line voltage.
ol dlces o8 diees] & SRR 2

3) The system does not contain a neutral point.
yoet # T SeriF fig 7§

4) 1t is a four wire system.

Ig IR-AR YoTat B

Correct Answer: It is a four wire system.

Ig IR-dR YuIa 31
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Candidate Answer: It is a four wire system.
Ig IR-IR YU 31

QID : 339 - What is the CORRECT expression for apparent power of a balanced 3-phase delta connected system?
T Q P 1 ol Seel Jad J(erd 3- bl URTY BT STHIE e & forw WY €7

Options:
1)

N3V %) sing

2)
3=V =l

3)
N3 %V %l cose

4)

N3Vl

Correct Answer:
N3Vl
Candidate Answer:
N3V x

QID : 340 - What is the reactive power of a 3-phase delta connected system having a line voltage of 200 V and line current of 80 A and the phase difference
between the voltage and current is 36.87 degrees?

T el Yad "qferd 3- Tl Tl @1 ufafrarsiial e aam gt e dz dieest 200 diee 3R w1E [IgaduRT 80 THITR § @R diecs! 3R RIgaaurT & sa sl
3R 36.87 f&U 52

Options:

1) 13.856 KW

13.856 fordl.are

2) 16.62 KVAR

16.62 F.d1.T.3R

3) 22.17 KW

22.17 fwdlare

4) 27.71 KVAR

27.71 $.8T3R

Correct Answer: 16.62 KVAR
16.62 %.d1.T.3R

Candidate Answer: [ NOT ANSWERED ]

QID:341 -

Calculate the value of quality factor in the Hay's Bridge given
below when supplied by a frequency of 50 Hz?

50 g¢=1 1 Hafed ¥ Y e o= W AR faw v 5w =
& AUTdcdl HRE & AT ol A0 HT

500
10 pF
20 0 .s
100
50 Hz
Fem
S
Options:
1) 31.83
2)15.91
3) 10.61
4) 6.36

Correct Answer: 31.83
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Candidate Answer: [ NOT ANSWERED ]

QID : 342 - Which of the following is used to avoid the errors due to creeping in the electrodynamometer type energy meter?

TF TR ISIEATH, TR & ol dY. B It gR1 I Ffedl @ s=m & farw Fm & § for o1 vt foan S 82
Options:

1) Disc with large radius is used.

S Freun areht fe< o1y far S 21

2) Disc with small radius is used.

B1e o et i o1 v o S 21

3) Holes are drilled in the disc.

e o 9 3o fve o &1

4) Very heavy disc is used.

Tgd YR f&% &1 IuahT o < 21
Correct Answer: Holes are drilled in the disc.
e o 9 f3a vy o &

Candidate Answer: Holes are drilled in the disc.

&= & B¢ 5o fou o €1

QID : 343 - In two wattmeter method of power calculation of a 3-phase balanced star connected system, what is the power factor of the system, if both the
wattmeters show same the positive reading?

%-Wﬁgmwwﬁ@ﬁmﬁmﬁmm%ﬁaﬁaﬁfﬂﬁ, oIt &1 RfekT HReb o1 G Afe T aTeriiex 4ATee (uifofea) ofik o S femard
?

Options:

1)0

2) Greater than 0 but less than 0.5
09 F1 Af 0.5 F HH

3) Greater than 0.5 but less than 1
0.5 9 ST AfBT 1 AP

4)1

Correct Answer: 1

Candidate Answer: 1

QID : 344 - What is the phase angle (in degrees) of a balanced 3-phase star connected system, if the first and the second wattmeter show readings of 0 W and
1600W respectively?

TP TR 3- ol ©R I T g8 Yummelt &1 =Ror 1oy (el &) 7 3, afe uger oIk g arewht. o 0 are 3R 1600 are &t Jfe e &2
Options:
1) 30

2) 45
3) 60

4) 90
Correct Answer: 60
Candidate Answer: 60

QID : 345 - Which of the following is used to measure value of quality factor below 10?
9 & 3 fraeT ST 10 ¥ = F UG HRES F A B AYA & € fmar w82

Options:

1) Anderson’s Bridge

T fow

2) Maxwell’s Inductance Bridge

3) Hay’s Bridge
ERAEE]
4) Wheatstone Bridge

Correct Answer: Anderson’s Bridge
T fos
Candidate Answer: Maxwell’'s Inductance Bridge

QID : 346 - Which of the following is the most commonly used measurement unit for a typical 1-phase energy meter?

A9 7 A o O 9e9 e SmTd B O areh R 1- e SoifH), B Hg 3678 22
Options:
1) Erg

2)]
3) kwh

4Hw
Correct Answer: kWh
Candidate Answer: kWh
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QID : 347 -

What is the value of unknown capacitance C, (inpF) and unknown
resistance R, (inkQ) respectively, in the circuit given below when no
current flows through the detector(D)?

&T a1r oiuy 7 9 Beaey (D) & ARAGH ¥ SIS 9RT =161 909 gial &
dr 37 enfar ¢, (inpF) 3R 3rad 9feler R, (inkQ)&T 1T T 81m?

Rl
800
C
25 UF 20 pyF
160 Q
el
0
e
Options:
1) 25, 64
2) 25, 100
3) 50, 64
4) 50, 100

Correct Answer: 50, 64
Candidate Answer: [ NOT ANSWERED ]

QID : 348 - What is the percentage voltage error of a potential transformer with system voltage of 6,600 V and having turns ratio of 50, if the measured secondary
side voltage is 130 V?

6,600 dlee & YUTTRR deesl 3R 50 TS SUTT ATd dledsl TRIKGRER P ufawrd diedsl Ffe Far gnfl, afe A gan fgfme dieest 130 diee 82
Options:

1) 1.51

2)3.02

3) 4.53

4) 6.04

Correct Answer: 1.51

Candidate Answer: [ NOT ANSWERED ]

QID : 349 - Which of the following is the cause of meter phase error in induction type energy meter?

1 & § 797 IR0 TR Frolt Hex F ex ol I HT BRT 82
Options:
1) Incorrect position of brake magnets.
36 I9F B Tad U
2) Incorrect adjustment of the position of shading bands.
71§ @ FRURT T TTera IR |
3) Slow but continuous rotation of aluminum disc.
w6 3t it fy qren Afe fARaR gof1
4) Temperature variations.
T uRad |
Correct Answer: Incorrect adjustment of the position of shading bands.
AT S F R 7 7107 FHRASH|
Candidate Answer: Incorrect adjustment of the position of shading bands.
7 '8 @ U &1 TTea TErie |

QID : 350 - The operation of a Megger is based on which of the following?
AR HT G FHufiad & @ g w sneia &2
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Options:
1) Dynamometer

2) Electrostatic meter

3) Moning coil meter

T Bled Hicx

4) Moving iron meter

AT SHRA

Correct Answer: Moving coil meter
T Bled Hicx

Candidate Answer: [ NOT ANSWERED ]

QID : 351 - The speed of the motor exceeds the synchronous speed. This braking method is called

HieR &1 Y Jeawb1feres A ¥ ofdie §) 9t 71 78 i fafy wgardt &
Options:
1) Plugging type braking
AN
2) Regenerative Braking.

3) Dynamic braking
TR ST

4) none of these

3T A B TN

Correct Answer: Regenerative Braking.
gTediqd

Candidate Answer: Regenerative Braking.

gTediad

QID : 352 - An Isolation Transformer Has Primary to Secondary turns ratio of

TYFh R} THTER BT Tt iR fdiae goff ermura 3
Options:

1)1:2

2)2:1

3)1:1

4) Can be any ratio

BI3 i 3UTd 81 Tl §

Correct Answer: 1: 1

Candidate Answer: 1 : 1

QID : 353 - Input of a transformer is square wave, then the output will be

TRABTHR BT 3TYC 3T AT 8, o SATSTYS &I ?

Options:

1) pulsed wave.

wied ad

2) square wave

i g4

3) triangular wave
T

4) sine wave

RIEEIGUI

Correct Answer: pulsed wave.

e ad

Candidate Answer: triangular wave
T

QID : 354 - The current drawn by the a 230 V DC motor of armature resistance 0.5 Q and back emf 200 V is

T 230 V B ST, Hiex gRT T T8 URT et SR ufekiy 0.5 Q § 3R Ui $.79. U, 200V ®
Options:
1) 60

2) 40
3) 600

4) 660
Correct Answer: 60
Candidate Answer: 60

QID : 355 - Find the short circuit current with Vr=7.5 and Ra=0.5Q.

Vr=7.5 3R Ra=0.5Q aTefl TT¢ ftbe 4RT 1 B3|
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Options:
1) 5A

2) 10A
3) 15A

4) 20A
Correct Answer: 5A
Candidate Answer: 15A

QID : 356 - The type of DC generator used for arc welding purpose is a

3T AT L= & fRrw wRinT fopam S aran . <. SFReR &1 UhR §
Options:
1) series generator

2) shunt generator
e
3) cumulativeily compounded generator

Tt =0 § o o e

4) differentially compounded generator

Correct Answer: differentially compounded generator
STHATT TGO STRER

Candidate f\nswer: differentially compounded generator
SHIHTNT YT SRR

QID : 357 - Total Core loss is also referred as

P BR I &1 39 ©U A i Fefila fvar sian &
Options:

1) eddy current loss

TST 4RI B

2) Hysteresis Loss

B
3) Magnetic Loss

kR

4)VCopper Loss

DPIR BT

Correct Answer: Magnetic Loss
ESEIRIR]

Candidate Answer: Magnetic Loss
JaB g

QID : 358 - The magnitude of the induced emf in the primary winding, will be, but opposite to the applied voltage.

TS WA INF TG FTURAN R0 Afe oRiftd dieew & fawdia g
Options:

1) higher

JANR

2) almost equal

ST FHT

3) lower

HH

4) negligible

Mg

Correct Answer: almost equal
ATHIT JHAT

Candidate Answer: almost equal
GUEURSEIE)

QID : 359 - Blocked rotor test is used to find which of the following losses ?
7 & 5 B 1 ual TR & Y 3R Aex ufiernn 1 IugNT fbar S &

Options:

1) Constant losses

SR B

2) Variable losses

oRad g8

3) Constant losses and Variable losses Both
3R B IR Ui g QT

4) Rotational loss

ot g/

Correct Answer: Variable losses

ofad g

Candidate Answer: [ NOT ANSWERED ]
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QID : 360 - In three induction motor the initial inrush of current is produce

T IR Hex B, URT & YRS ST I I Bl 8
Options:

1) large line voltage drop

IS e A g

2) large phase voltage drop

3) damage the rotor windings

RAeR IS BT &ifcy ugan

4) high starting torque

Fa YT Fargof

Correct Answer: large line voltage drop
S I A gia

Candidate Answer: high starting torque
R RREIG)

QID : 361 - The starting winding of a single-phase motor is placed in

- ol TiIeR 1 ATl arsfET R gt 3
Options:

1) Rotor

AR

2) Stator

3) Armature

4) Field

Correct Answer: Stator

Candidate Answer: Stator

QID : 362 - The type of single-phase induction motor having the highest power factor at full load is

THT-TRUT IRUT HeR T YHR s gof yR R I=a 2fd FRS §
Options:
1) shaded pole type
i UHR
2) split-phase type
3) capacitor-start type
TeRA-TRY THR
4) capacitor-run type
JutRa-aferd ueR
Correct Answer: capacitor-run type
Geriea-aferd TR
Candidate Answer: capacitor-run type

Terfa-afad TeR

QID : 363 - The shaded pole motor is used for .

BIfhd Uid HAiex <39 BT IUANT oy for fovar smar § 2
Options:
1) high starting torque
S BT Fareol
2) low starting torque
FHH THAKA
3) medium starting torque
A LA
4) very high starting torque
ST
Correct Answer: low starting torque
BT BT FATD!
Candidate Answer: very high starting torque
YD BTt

QID : 364 - Which of the following motors can be used for unity power factor ?

fAffad & @ o ot Aiex 318 e Ui & e ST BT S Thelt 82
Options:
1) Capacitor run motor
e Tferd Hiex
2) Shaded pole motor
i AieX

3) Hysteresis motor

4) Schrage motor
DRI
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Correct Answer: Schrage motor

Candidate Answer: Hysteresis motor

MY AR

QID : 365 - The dummy coil in DC machines is used to .

.. 72§ vferey (S Sl @1 i by fore it 22
Options:
1) eliminate reactance voltage
yfqara (Ruadd) dieed! & JHIW B & forg
2) eliminate armature reaction
BT TATT P & Y
3) bring about mechanical balance of armature

g T &

4) eliminate harmonics developed in the machine

A H fassfia gif-ey &) Tard $A ¥ fag

Correct Answer: bring about mechanical balance of armature
I Sge aH &

Candidate Answer: bring about mechanical balance of armature

TR & Tified Iga- aH & g
QID : 366 - When a D.C. series motor is connected to A.C. supply, the power factor will be low because of

5§ TP 5141, Jofteg wiex T oyl & ISt B 7, o Wik qure & g wiffes
Options:
1) high inductance of field and armature circuits
Hfhe &1 3=
2) induced current in rotor due to variations of flux
AR | fafdedr & HRurAex § URa oRT
3) fine copper wire winding
TP IR BT AR B ATSfST
4) none of these
T A BIS T
Correct Answer: high inductance of field and armature circuits

TR Fihe &1 3= R

Candidate Answer: high inductance of field and armature circuits

Bits 3R MR Fihe &1 3= Rbd

QID : 367 - The speed of a DC shunt motor is required to be more than F.L. speed. This is possible by .

B, urzduy (e Aiex B 1A TH.TE. TS F 31w i B SAMaRTDBT Bl &1 T8 P THT 87
Options:
1) increasing the armature current
TR YRT BT TGTH
2) decreasing the armature current
YRT Pl TTTHR
3) increasing the excitation current
LCSIETRIE| YRT &I dglh
4) reducing the field current
&3 URT B HY

Correct Answer: reducing the field current
&7 URT B HH ISP

Candidate Answer: reducing the field current
&7 YRT B HH FRb

QID : 368 - Due to low supply voltage for a 40 HP, 3 —phase induction motor, which of the following equipment can be used to boost the voltage?

40 T3, W, B, 3 - IRUT AIeR A H SMYff AR F BRI, A7 & I B 1 IUIRUT diecl g & o7 ST {31 S Tha 82
Opti :
1)psg:1r:::1ron9us condenser

2) Additional tap ch.anging transformer

3) Series capacitors

gufteg et

4) Shunt capacitors

Tie gyt

Correct Answer: Shunt capacitors

3fe Juila

Candidate Answer: Synchronous condenser

QID : 369 - In case of transmission line conductors, with the increase in atmospheric temperature

HEROT A1 1A% & A9 §, agHSdrg aggH J 3ig & 9
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Options:
1) length increases but stress. Decreases
FaTS Jeedt ¥ Wg Ufied &9 g 7
2) length increases and stress also increases
EIEE] 3R vfaea & oft 9f Bt 8
3) length decreases but stress increases
aTg | el gId & i Ufdea  gis gl ¢
4) Both length as well as stress decreases
' A B §
Correct Answer: length increases but stress. Decreases

Candidate Answer: [ NOT ANSWERED ]

QID : 370 - Insulators are generally made of

fagaaRieh U FHEAE
Options:

1) glass

DI

2) porcelain

3) RCC

SR Gt

4) cadmium

Correct Answer: porcelain

i+ et

Candidate Answer: porcelain

QID : 371 - HT cables are generally used upto

T} had BT IUUNT U: T8T b fapar ST @
Options:
1) 11 kV

2) 33 kV
3) 66 kV

4) 132 kv
Correct Answer: 11 kV
Candidate Answer: [ NOT ANSWERED ]

QID : 372 - In an underground cable, insulating material used is

TH YA Bea R faguaRred ammht &1 SuanT e S @ |

Options:

1) oil impregnated paper
T HRTST

2) PVC

CilciRsi|

3) rubber

RER

4) None of these

T A PIS 6T

Correct Answer: rubber

IR

Candidate Answer: PVC

dtat <

QID : 373 - In wiring and winding an Abbreviation for S.W.G is

RN 3R IRFET H S.W.G fraa dfdng wu §
Options:

1) Synthetic Winding Guard

PO IR ME

2) Simple Winding Gauge
HYRYT AT I
3) Standard wire gauge
T IR A
4) Single Wire Guard
THd IRR TS
Correct Answer: Standard wire gauge
'$S AR el
Candidate Answer: Standard wire gauge
wWed TR A9
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QID : 374 - As the load is increases, the speed of a DC shunt motor will .

9 die 9 ordl 8, ) 1.3, ureduy (o) iR H Al It gl
Options:
1) remain constant

2) increase proportionately
3) increase slightly
ISIEIRED

4) reduce slightly

DY PH

Correct Answer: reduce slightly
DY HH

Candidate Answer: reduce slightly

D8 Y
QID : 375 - In case of core type transformer which type of winding is done near the core ?

PR UHR & B B BR F e g THR o aRfén g g 2
Options:

1) low voltage

P qees

2) high voltage

I e

3) Primary winding

UfEes argfen

4) secondary winding

Correct Answer: low voltage
FH i

Candidate Answer: low voltage
DH

QID : 376 - Calculate the January month electricity bill for a room containing 40W lamp working 10 hours daily and unit cost is 1 rupee

T HHRT ST IH 40 dfe &1 sed UfAfeT 10 ¢ ST 8 3R RSe! 3518 $19d 1 FTUT § ITP SR HIE & foorell & e o7 3ieber B
Options:

1) 13.4 rupees

13.4 300

2) 12.4 rupees

12.4 309

3) 11.4rupees
11.4 300
4) 10.4 rupees
10.4 394

Correct Answer: 12.4 rupees
12.4 30

Candidate Answer: 10.4 rupees

10.4 30

QID : 377 - Earth wire is connected to the

3ref AR e 8T B ©
Options:

1) appliance

JUDHR]

2) ground

3) power house
W
4) transformer

Correct Answer: ground

Candidate Answer: ground

QID : 378 - A feeder, in a transmission system, feeds power to

T By, TR e #, b et wer oear 8
Options:
1) Distributors

2) service mains
3) substation

4) All options are correct

ot e Ot §
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Correct Answer: Distributors

Candidate Answer: Distributors

QID : 379 - At a dead end of a transmission line or at a corner or sharp curve, which type of insulator is used

TR T &b IRAT R I HH R I N 7% R, {59 UopR & fagaaidh 1 Iuah gar g
Options:

1) Pin

o=

2) shackle
A5d
3) suspension

4) strain

GEIC

Correct Answer: strain
GEIC

Candidate Answer: Pin

QID : 380 - Shaded pole induction motor used in

Bifehd Urel IR HieR 1 Iua fverd faam ol &
Options:
]:) fan

2) compressor

3) blower
AR
4) electric clocks

feretedt 1 ugt

Correct Answer: electric clocks

Candidate Answer: compressor

QID : 381 - No ceiling fan should be installed at height of less than

B3 ot B BT U1 T SA1S | HH R WM T HA7 1gY
Options:

1) 2.5M from the floor

T 2.5 W W

2) 5.5 M from the floor

Td 9 5.5 W W

3) 4.5M from the floor

qTaAd 4.5 W W

4) 3.5M from the floor

qAY 35 W W

Correct Answer: 2.5M from the floor
T 2.5 W W)

Candidate Answer: [ NOT ANSWERED ]

QID : 382 - What is the function of turbine in hydro power plant?

S e G | eafed &1 o B 87
Options:

1) Produce electrical power

fagaa wfdq SadmeA

2) produce hydropower
ERRIESECREICE]

3) produce heat power
GIERESERSICE]

4) produce mechanical power

Tife Afe Idre

Correct Answer: produce mechanical power

Titi® Tfea IaeA

C;ndidate Answer: produce mechanical power
i IdTeA

QID : 383 - Radiant efficiency of a luminous source depends on

faftmm g @t fafeia geran R Rk e g
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Options:

1) Shape of the source

HId BT SHTHR

2) Temperature of the source

HId ST aIaH=

3) Wave length of light rays

TehTRT fBRun BT At

4) All options are correct

it fawey a8t §

Correct Answer: Temperature of the source
HId BT aIHH

Candidate Answer: All options are correct

Tt ooy Tt €

QID : 384 - To save wastage which lamp is the cheapest?

U FAM & oY Ta T AR I AR 2
Options:
1) Sodium vapour lamp
T
2) Mercury vapour lamp
A AT
3) Fluorescent tube

S2Sl
4) GLS lamps
i T o
Correct Answer: Mercury vapour lamp
TR} I

Candidate Answer: Fluorescent tube

oS

QID : 385 - The disadvantage of fluorescent lamps as compared to GLS lamps is .

of. Ta.o A Y go F vfaciiiy A & JeaH § 2
Options:
1) Noise in choke

2) Stroboscopic effect
TREDIUS gura

3) High cost

3 dRTd

4) All options are correct

T faer o8 &

Correct Answer: All options are correct

Tt ey gt §

Candidate Answer: All options are correct

it fopeT Tt §

QID : 386 - Gray iron is usually welded by

Y SR T 9P gRI IS B oI §
Options:

1) Arc welding

37 afeg

2) Gas welding
g afgn

3) TIG welding
CIRIEACIAGITS
4) MIC welding
7w 3E ). afcT

CorrecF Answer: Gas welding

Candidate Answer: [ NOT ANSWERED ]

QID : 387 - The quantity of heat absorbed from the heater by convection depends upon

Tae & gRT SR I Safda &1 Bt 7 g R Ak et @
Options:

1) The temperature of heating element

AU ded bl dIUHE

2) The surface area of the heater

ex &1 U8 awd

3) The position of the heater

TR 3T Rl

4) All options are correct

Tt ooy Tt €

Correct Answer: All options are correct

gt ey 9 @

Candidate Answer: All options are correct
Tt ey ot §
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QID : 388 - Which of the following falls under the category of fusion or non-pressure welding?

fAfafed & ¥ $ Jore a1 R-ga9 AT ot Joft 7 o 2
Options:

1) Resistance welding

TieRTY afes

2) Metal-arc welding

YIg-

3) Ultrasonic wglding

4) Explosive welding

Correct Answer: Metal-arc welding
YTg-311dh AT

Candidate Answer: Metal-arc welding
YTg-31Td AT

QID : 389 - When an electron is removed from an atom, it becomes

TR ¥ AT eI 9 W, I8 §F o1 §
Options:
1) cpvalent

2) po§itron

3) ﬁfolecule

4) ionised

Correct Answer: ionised

Candidate Answer: ionised

QID : 390 - The donor type of impurity is
SFRIGT BT &Il UhR &

Options:

1) phosphorous

BIRGRY

2) aluminium

3) poron

4) iron

TR
Correct Answer: phosphorous

Candidate Answer: boron

QID : 391 -

In figure the forward characteristics of a
silicon diode is represented by

== 7 faferepi=r sm@s & 31 T fhuss car
ol e o &

! | ! !
(@) (o) (©) ) (d) I/
D i
Vv 05 v

0 0

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Options:
1) (a)

2) (b)
3)(c)
4) (d)

Correct Answer: ()
Candidate Answer: (b)

QID : 392 - The number of diodes required in a bridge rectifier circuit is

forst eyt uRuy # eawgs Sris @1 I §
Options:
1)1

2)2
3)3

4) 4
Correct Answer: 4
Candidate Answer: 4

QID : 393 -

In the figure below you see an electronic
component. Which type of electronics
component is shown in the figure?

Jr fow s T # 39 Us Sdgcla
dcd RR@rs &1 8| =& e weR @ &

AC128

Options:
1) Thyristor

2) High power transistor
—d .

3) Low power transistor
$Y Wfad giforex

X

4) Phqto transistor

Correct Answer: Low power transistor
FY i giftRex
Candidate Answer: [ NOT ANSWERED ]

QID : 394 - The current gain of common base amplifier is

Y S yatie & 4R gie ©
Options:

1) more than 1

19 ot

2) less than 1

19

3) equalto 1

1P TR

4) greater than 100

100 ¥ 3t

Correct Answer: less than 1
19 %9

Candidate Answer: equal to 1
1P TR
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QID : 395 - synchronous motor can be made self starting by providing

39 e FR% eI HieR ST Terd IS o Tobell &
Options:

1) damper wmdmg on rotor poles

e U TR 3THGP ATRfST

2) damper winding on stator

TR W THES dTlS

3) damper winding on stator as well as rotor poles

Wex 3R AR Ud W 3aHeH IR

4) None of these

BEEET R

Correct Answer: damper winding on rotor poles
AR UId R THEH RIS

Candidate Answer damper winding on stator
TR R THED

QID : 396 - A synchronous motor working at leading power factor can be used as

Uit WH HRE R S TR G JADIersd HeR HT SUANT 39 =0 § 3541 o G §
Options:

1) current booster

YRT 3G & forg

2) voltage booster

diel g  forg

3) mechanical synchronizer

Tifte JeadbIad

4) Power factor corrector

T SRS YIRS

Correct Answer: Power factor corrector
e FRS GURS

Candidate Answer: Power factor corrector
e PR JURS

QID : 397 - In a synchronous motor hunting occurs due to,

JeadpIfers HieR # g P sRUT A Bt B 2
Options:
1) Over-excitation

2) Over-loading for long periods

T T % IR AST

3) Periodic variation of load

YR &1 3frafds fafdear

4) Small and constant load

BT 3R 3R UR

Correct Answer: Periodic variation of load

YR P A fafaeram

Candidate Answer: Periodic variation of load

UR $I 1A fafaemar

QID : 398 - A synchronous motor is running with normal excitation. When the load is increased the armature current drawn by it increases because

TP JeIPID HieR WA IS § T0 I6T 81 O YR H gig BT Sl 8 o SqP gRT Wi 1S 3R ory 7 3G fre sRuT A gl 8

Options:
1) Resultant voltage in armature is increased

2) power factor is decreased

wfed o1 w1 faan T §

3) back e.m.f. becomes less than supply voltage
T7ef £.0H. T, MY diee I HH B oIl |

4) speed of the motor is reduced

HIeR B T HH 81 S §

Correct Answer: Resultant voltage in armature is increased

Candidate Answer: back e.m.f. becomes less than supply voltage

o1 £.0H. T, S e A W gl W &

QID : 399 - Due to which one of the following reasons a synchronous motor fails to pull into synchronism after applying D.C. field current ?

R4 & 4R UeH FA F 18 9 F I 59 SRV UF Jeudiierd Hiex geasiiordsar 8 o H s vgdt 82
Options:

1) High field current
I &7 UK

2) Low short circuit ratio
HY TC Flehe U

3) High core losses

I BR g

4) Low field current

FY &7 URT
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Correct Answer: Low field current
FH & URT
Candidate Answer: Low short circuit ratio

HY WS Widhe U
QID : 400 - As the load is applied to a synchronous motor, the motor takes more armature current because

TDIeTS ek W R R fHT R W, Aier 3ifiie SR URT $T IUGRT Bt § TP
Options:
1) the increased load has to take more current
U gU UR &Y 31 YRT AR Rl
2) the back e.m.f. decreases causing an increase in motor current
o1 $.0A. U, T BT € R BRI Hiex ¥RT H i e ¥
3) the rotor by shifting its phase backward causes motor to take more current
BRI 30 e $I G Wi & HRO HeR B 1S YRT A1 ISt
4) the rotor strengthens the rotating field causing more motor current
e P YU Bies ) Uae BT & 1D SR 3 Hiex YR I gt &
Correct Answer: the rotor by shifting its phase backward causes motor to take more current
AR GRT 307 ol HY Wy WieA & HRON Al B 3% URT A1 Ueeht §

Candidate Answer: the back e.m.f. decreases causing an increase in motor current

e $.05. T, BH Bl © [ HRU AR 4RI g gl @
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